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Hello John

TCp/P.  1347it1° -

Transfer Control Protocol / Internet Protocol

0-255.0-255.0-255.0-255

media.uoa.gr -> 195.134.101.69
:Domain Name Service (DNS)

DNS

media.uoa.gr 195.134.101.69

google.gr 88.42.2.3

https://app.diagrams.net/
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TaxuTnta AikTOwv / EGpog Zwvng

8 bits / sec = 1 byte/sec = 1 xapakTnpag/sec
01110101
1sec 14 bits / sec

0111011111111

16 bits /sec = 2 bytes /sec = 2 xapaKTpeg / OEUTEPOAETTTO
"TO" , "eall

10 Kbits/sec = 10 Kbps = 10 * 1024 bits per sec =10 * 128 bytes/sec = 1280 xapakTApeg ava Seut

30 Mbps =30 * 1024 * 1024 bits/sec =(30*1024*1024) / 8 bytes/sec =3.75 ekaToy. XaPOKTAPEG/SeUT

40 Mbps, éxoupe 1 Mp3 xwpnTikéTNTag 5 Mbytes

1 sec kateBddoupe ((40 Mbits) /8 ) Mbytes = 5 Mbytes

1 Mp3 = 5 Mbytes amairei 1 sec

1 CD 760 MBytes

1 sec kareBafoupe ((40 Mbits) /8 ) Mbytes = 5 Mbytes

X; 760 Mbytes

X =760/5 sec=152 sec / 60 = 2 Aemr1a K 32 deuT.
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1 DVD 4.6 GBytes

1 sec kareBdadoupe ((40 Mbits) /8 ) Mbytes = 5 Mbytes

X; 4,6 GBytes = 4,6* 1024 MBytes =mepimrou 4.600 MBytes

X =4.600/5 sec =920 sec =15 min ka1 20 sec
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